THIRD SEMESTER : TEXTILE TECHNOLOGY

SR.	SUBJECTS	STU	DY		Total							
NO.		SCHEME Hrs/Week		INTERNAL ASSESSMENT					Marks of Int. and			
		Th	Pr	Th	Pr	Tot	Th	Hrs	Pr	Hrs	Tot	Ext.
3.1.	Spinning Technology – I	4	6	25	25	50	100	3	50	3	150	200
3.2.	Weaving Preparatory Processes	4	-	50	-	50	100	3	-	-	100	250
3.3	Weaving Technology – I	4	6	25	25	50	100	3	50	3	150	200
3.4	Fabric Structure – I	3	3	25	25	50	100	3	50	3	150	200
3.5	Textile Processing- I	4	3	25	25	50	100	3	50	3	150	200
	dent Centred Activities including ogy & Environmental Awareness p.	-	3	-	25	25	-	-	-	-	-	25
	Total	19	21	150	125	275	500	-	200	-	700	975

SCA will comprise of co-curricular activities like extension lectures, library studies, games, hobby clubs e.g. photography, painting, singing, seminars, declamation contests, educational field visits, N.C.C., NSS, cultural activities, civil defence/ disaster management activities etc.

FOURTH SEMESTER : TEXTILE TECHNOLOGY

SR.	SUBJECTS	STUDY SCHEME Hrs/Week				Total						
NO.				INTERNAL ASSESSMENT				Marks of Int. and				
		Th	Pr	Th	Pr	Tot	Th	Hrs	Pr	Hrs	Tot	Ext.
4.1	Spinning Technology – II	4	6	25	25	50	100	3	50	3	150	200
4.2	Weaving Technology – II	4	6	25	25	50	100	3	50	3	150	200
4.3	Fabric Structure – II	3	3	25	25	50	100	3	50	3	150	200
4.4	Textile Processing – II	4	3	25	25	50	100	3	50	3	150	200
4.5	Minor Project Work	-	4	-	50	50	-	-	100	3	100	150
	#Student Centred Activities including Entrepreneurial Awareness Camp		3	-	25	25	-	-	-	-	-	25
	Total	15	25	100	175	275	400	-	300	-	700	975

SCA will comprise of co-curricular activities like extension lectures, library studies, games, hobby clubs e.g. photography, painting, singing, seminars, declamation contests, educational field visits, N.C.C., NSS, cultural activities, civil defence/ disaster management activities etc.

FIFTH SEMESTER : TEXTILE TECHNOLOGY

SR.	SUBJECTS	STU	DY		Total Marks of Int. and							
NO.		SCHEME Hrs/Week		INTERNAL ASSESSMENT			EXTERNAL ASSESSMENT					
		Th	Pr	Th	Pr	Tot	Th	Hrs	Pr	Hrs	Tot	Ext.
5.1	Spinning Technology - III	4	4	25	25	50	100	3	50	3	150	200
5.2	Weaving Technology - III	4	4	25	25	50	100	3	50	3	150	200
5.3	Textile Testing and Quality Control – I	4	4	25	25	50	100	3	50	3	150	200
5.4	Textile Processing - III	4	3	25	25	50	100	3	50	-	150	200
5.5	Computer Applications in Textile Technology -I	-	4	-	50	50	-	-	100	-	100	150
	#Student Centred Activities including Personality Development Camp		5	-	25	25	-	-	-	-	-	25
	Total	16	24	100	175	275	400	-	300	-	700	975

SCA will comprise of co-curricular activities like extension lectures, library studies, games, hobby clubs e.g. photography, painting, singing, seminars, declamation contests, educational field visits, N.C.C., NSS, cultural activities, civil defence/ disaster management activities etc.

SIXTH SEMESTER : TEXTILE TECHNOLOGY

SR.	SUBJECTS	STU	DY		MA	ARKS II	N EVAI		Total			
NO.		SCHEME Hrs/Week		INTERNAL ASSESSMENT				Marks of Int. and				
		Th	Pr	Th	Pr	Tot	Th	Hrs	Pr	Hrs	Tot	Ext.
6.1	*Generic Skills and Entrepreneurship Development	3	-	50	-	50	100	3	-	-	100	150
6.2	Elective	4	-	50	-	50	100	3	-	3	100	150
6.3	Textile Testing and Quality Control – II	4	4	25	25	50	100	3	50	3	150	200
6.4	Textile Merchandising	3	-	50	-	50	100	3	-	-	100	150
6.5	Computer Applications in Textile Technology-II	-	4	-	50	50	-	-	100	3	100	150
6.6	Major Project Work	-	12	-	100	100			200	3	200	300
#Stuc	#Student Centred Activities		6	-	25	25	_	_	-	-	-	25
	Total	14	26	175	200	375	400	-	350	-	750	1125

* Common with other diploma programmes

Electives: Select any one of the following:

6.2.1 Advanced Yarn Manufacturing

6.2.2. Advanced Fabric Structure and Applied Design

6.2.3 Advanced Textile Processing

SCA will comprise of co-curricular activities like extension lectures, library studies, games, hobby clubs e.g. photography, painting, singing, seminars, declamation contests, educational field visits, N.C.C., NSS, Cultural Activities, Civil Defence/ Disaster Management activities etc.